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��$� A�@E+ �+�FZU$ ) �3$Mazinani, 1998; Moarefzade, 2006; Entezarian, 2010; Nikkar and 
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 8��92�'� �D�E�$ �	�� . �DFG� 	
  

AB@�� �$
$�"���  ��C �$
$�"��� AB@��  
<$�
3$  


��M� 
9�]3��� 

H[��" 9�]3���  

?)=O �$�M+  

<$�
3$  


��M� 
9�]3��� 

H[��" 9�]3���  

?)=O �$�M+  
��%=�� >��%��3 

5,94  23,43 3,34 1,01 49,14 3,51 
 ?Y$
$ 7 �6��� WN��

X���R 

 

1,06 
46,03 

 

3,28 
5,31  24,20  3,45  X�FZU$ >
7��(  

8,34 37,16 3,09 1,04 43,19 3,32 ���3��%�6 

8,72 33,70 3,06 9,67  39,03  3,25  
X
�D�  �$=6 >��

�+�FZU$  

1,03 38,50 2,96 8,17 35,14 3,19 ?F=�5� >%�6 

3,70  35,76  3,13  3,89  38,14  3,34  
%����$  �5�6%��3 K�

��%=��  

 c7�N 
�2 ?" �)% ?[)�G� 
=f��  ?���� %��3 >��  9�]3��� ���[j) �)$�� 
� ��%=�� �5�6

?�����)% ?)=O �$�M+ H[� �" �� �� %$ i) �� >�� ?���� �
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� ��M) .�� ?�6�
� ��  �E5�6 �
=� >��
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$�"��� ��O�)� %$ ?� !6$ 9)$ >�)=O

WN�� ?F=�5� 7 ��E�" 0%=�� ?� �9�]3��� 9)�+u�" >$
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��C 7 AB@��  �=�%� %$ AB@���%$�3$  
�j� >��1 ��M� �:h�� !)7�� �=�%� .�� �����6$  �� >
$�

l3�)
$7 >�"$�" {�� 9�7
 �+
��F ?" .![�3 
$�g�" ?�["$7 >����e�� 
� ��  >�$%� ?N
� t�
B+ ?" �)�" ��+

.�=� 0
$\O X�:( ?�3�� �=:�[2$ 7 ��� P$�g$  
 8��93����� . �
��4 ���% 5��J� �	
  

W���   I=�5� I=3X$
715�  df  9�]3��� 
1N  F  ��M� >
$�  

K��F1         Huynh- Feldt 7,839  3,770  2,079  12,449  0,000  

K��F)��R1  (Huynh-Feldt  68,007  407,195  0,167      

 c7�N 
�3 ?�3�� �=�%�-��M� X�:(  9�" {��+
$ 7 >�$%� X�N
� !
; >��M� ?" ?� �� 
$�

�� �7
� �#$ X7��+ 7 ��  ��7�O?3�@"��� AB@�� �
$�"��� ��%=�� >��%��3  �DE� �D� ��=�F >��

.!6$  
 8��94����� . �
��4 ���% L�	#$ �	
  

 K��F W���1  X$
715� I=�5� I=3  df  9�]3��� 
1N  F  ��M� >
$�  

K��F1    Linear  7,644  1  7,644  54,968  000/0  

K��F)��R1( Linear  15,020  109  0,139      
  

 c7�N4  ��E3 \�3��M� %$ .�
$� AB@�� �
$�"��� ��%=�� >��%��3 �37
� K"�G+ ��� 
$�  
 8��95����� . �
��4 &�� 5��J� �	
  

W���  X$
715� I=�5� I=3  df  9�]3��� 
1N  F  ��M� >
$�  

��F  6102,044  1  6102,044  E
32,592  0,000  

��R  254,280  109  2,354      
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W���  
 I=�5� I=3

X$
715�  
df  9�]3��� 
1N  F  ��M� >
$�  

K��F1     Sphericity Assumed  3,116 4  0,799  3,472  0,010  

Greenhouse-Geisser  3,116  3,412  0,913  3,472  0,015  

K��F)��R1(     Sphericity Assumed  26,026  116  0,224      

Greenhouse-Geisser  26,026  98,939  0,263      
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K��F1      Linear  0,620  1  0,620  3,483  0,072  

K��F)��R1 ( Linear  5,162 29  0,178      
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W���  
 I=3lll  I=�5�
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715�  
df  9�]3��� 
1N  F  ��M� >
$�  

��F  1489,908  1  1489,908  693,993  0,000  

��R  62,259  29  2,147      
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 8��99����� . �
��4 &�� 5��J� �	
  

W���  ?�["$7 ���e��  
 I=�5� I=3

X$
715�  
df  9�]3��� 
1N  F  ��M� >
$�  

!�6  ��%=�� >��%��3  3334,551  1  3334,551  2,244  0,136  

  ?F=�5� >%�6  0,407  1  0,407 0,717  0,399  

  ���3��%�6  3,069  1  3,069  4,736  0,031 

  WN�� �6���  1,165  1  1,165  2,162  0,144  

  X�FZU$ >
7��(  0,289 1  0,289  0,477  0,491 

  �+�FZU$ �$=6  0,572  1  0,572  0,931  0,336  

��R  ��%=�� >��%��3  2050335,985  138  1485,768      

  ?F=�5� >%�6  78,380  138  0,568      

  ���3��%�6  89,435  138  0,648      

  WN�� �6���  74,350  138  0,539      

  X�FZU$ >
7��(  83,787  138  0,607      

  �+�FZU$ �$=6  84,833  138  0,6015      

 K�

t�
B+ ���  
��%=�� >��%��3  208370,536  139        

  ?F=�5� >%�6  78,787  139        

  ���3��%�6  92,504  139        

  WN�� �6���  75,515  139        

  X�FZU$ >
7��(  84,076  139        

  �+�FZU$ �$=6  85,406  139        

  

����  c7�N 
� ?� ?3=O9 �� ����E�  7 AB@�� �$
$�"��� �7�O 7� 9�" 9�]3��� X7��+ �=�

��C ?3�@"��� AB@��  ��=�F >����DE� %��3 >$�"  ��%=�� >��(F=2.244, p=0.136)_  >$�"

?F=�5� >%�6(F=0.717, p=0.399) _ ���3��%�6(F=4.736, p=0.031)_ WN�� >$�"  ?Y$
$ 7 �6���

 X���R(F=2.162, p=0.144) _ X�FZU$ >
7��( >$�"(F=0.477, p=0.491)_ X
�D� >$�" 7  �$=6 >��

 �+�FZU$(F=0.931, p=0.336) _6$! _��M� t�6 
� $1�  >
$�∝�0.05 ���M� X7��+ 9�]3��� 9�" >
$�  

%��3 ?F=�5� ���%=�� >�� WN�� �>%�6 X
�D� �X�FZU$ >
7��( �X���R ?Y$
$ 7 �6���  �$=6 >��

��C 7 AB@�� �$
$�"��� �7�O 7� �+�FZU$ ?3�@"��� AB@�� ��E3 ����E� �DE� ��=�F >��  �G( 7
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��M� X7��+ 9�]3��� 9�" 
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$�"��� ?� !�$� ?N=+ �)�" 9)$�"��" .�=�

.�3
$� AB@����C �$
$�"���  ?" !�[3 ���3��%�6 ?��� 
� 0%=�� ?" >��E�" %��3 AB@��  

:H�	!* 
��3 %��3 9�" �)� ��C 7 AB@�� �$
$�"��� ��%=�� >�� ?3�@"��� AB@��  ��=�F >��

 �DE��" }�
$� �=N7 X7��+ ��3� 
�� ?G"�6 H[�  

��M� 9��M+ >$�" %��3 �$\�� X7��+ >
$�  AB@�� �$
$�"��� �7�O 7� 
� ��� ��M"$ 7 ��%=�� >��

�" AB@����C 7 4�2 !)�F
 P�F ?" ?N=+ �" �
�� ?G"�6 H[� ��( �7�O �$�M+ ��=" ����) P%u >��  ��

��$� W)%=+ ��=" c���3 P�F ���3 �6 %$ �" �� l3�)
$7 >�"$�" P�F �=3���6$ 7�O=���� �=�%� H[�  ��

l3�)
$=� >�"$�" P�F 7 9)=� �=�%� H[��" P$ �=�%� H[��" �� ?" (l��"  �=�%� %$ �����6$ >�N

.�� �����6$ ?3��� i)���$
�2�3 �=�%� %$ �?3�O��h l3�)
$7 K�:
+ i)���$
�2   

  

 8��910 ������ �	
�	��  �S'	#� .	!�� �	� �#�	� �'	3�� ����� �����	��  

  ��%=�� >��%��3  ?F=�5� >%�6  ���3��%�6  WN�� �6���  X�FZU$ >
7��(  �+�FZU$ �$=6  

�$�M+  110  110 110  110  110  110  

?3���  193  3,181 3,307 3,428  3,428 3,250 


=j6$ ��  0,263 0,714  1,518  1,251  1,633  3,666  
df  4 4  4 4 4 4  

��M� >
$�  0,992  0,950  0,823  0,870  0,803  0,453  

�"  c7�N ?)�210�" �����e�� %$ i) �� >$�" ��� ?�6�
� ?3��� ?" ?N=+ �" �  
�� ?G"�6 H[�

���3 X7��+ �AB@�� �$
$�"���  ��%=�� >��%��3 >��(X2=0.263, df=4, p=0.992)_ ���3 X7��+  >��

?F=�5�  >%�6(X2=0.714, df=4, p=0.950)_ ���3 X7��+  ���3��%�6 >��(X2=1.518, df=4, 

p=0.823)_ ���3 X7��+ WN�� >��  X���R ?Y$
$ 7 �6���(X2=1.251, df=4, p=0.870)_ ���3 X7��+  >��

 X�FZU$ >
7��((X2=1.633, df=4, p=0.803)_ ���3 X7��+  �+�FZU$ �$=6 X
�D� >��(X2=3.666, 

df=4, p=0.453) _!6$ _ t�6 
� $1���M�  >
$�∝�0.05� ��M� X7��+  9�" >
$� ��%=�� >��%��3 ���3

��3 ����E� �$�($ 9)$ 
�� ?G"�6 H[��" �� ��M"$ 7 AB@�� �$
$�"���  .�=��� ?5��3 
�  9�" !�O �$=+

?3�@"��� AB@�� �$
$�"��� ��%=�� >��%��3 �D3� 
�� ?G"�6 H[��" �� ��M"$ 7 �DE� ��=�F >�� 

��M� X7��+ 7 >
$��
$�3 �=N.  
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 8��911	!�� �	� �#�	� �'	3�� �������� �����	�� ������ �	
�	��  �S'	#� .  

  
 >��%��3

��%=��  
?F=�5� >%�6  ���3��%�6  WN�� �6���  

 >
7��(

X�FZU$  

 �$=6

�+�FZU$  

�$�M+  30  30  30  30 30  30 

?3���  E21,7500 3,045 3 3,178  3,214 3 


=j6$ ��  4,019  3,410  0,746  8,305 6,476 4,019  

df  3  3  3 3  3 3  

��M� >
$�  0,259  0,333  0,862  0,040  0,091 0,259 

 c7�N ?)�2�"11 
�� ?G"�6 H[��" �����e�� %$ i) �� >$�" ��� ?�6�
� ?3��� ?" ?N=+ �" �

���3 X7��+ �AB@�� �$
$�"���  ��%=�� >��%��3 >��(X2=4.019, df=3, p=0.259) _���3 X7��+  >��

?F=�5�  >%�6(X2=3.410, df=3, p=0.333)_ ���3 X7��+  ���3��%�6 >��(X2=0.746, df=3, 

p=0.862)_ ���3 X7��+ WN�� >��  X���R ?Y$
$ 7 �6���(X2=8.305, df=3, p=0.040)_ ���3 X7��+  >��

 X�FZU$ >
7��((X2=6.476, df=3, p=0.091)_ ���3 X7��+  �+�FZU$ �$=6 X
�D� >��(X2=4.019, 

df=3, p=0.259)_ !6$ _��M� t�6 
� $1�  >
$�∝�0.05� ��M� X7��+  9�" >
$� ��%=�� >��%��3 ���3

 
�� ?G"�6 H[��" X���R ?Y$
$ 7 �6��� WN�� ��%=�� %��3 
� \N ?" ��� ��M"$ 7 AB@����C �$
$�"���

 .�E3 ����E� �$�($ 9)$
�  9�" ?5��3WN�� ��%=�� %��3 ?Y$
$ 7 �6���  AB@����C �$
$�"��� X���R

�"  �D3� 
�� ?G"�6 H[���M� X7��+ �
$� �=N7 >
$� ��$ _ �)�6 9�" ?G"�6 H[��" �D3� ��%=�� >��%��3

�D3� 
�� ��M� X7��+ �
$�3 �=N7 >
$�.  
 

 �����  

%��3 ?��G� 9)$ 
� ��C 7 AB@�� �7�O 7� i�j�+ ?" �$
$�"��� ��%=�� >��  
� AB@��

?3�@"���  >�� XZ�B
+ �$\�� :�$� ��E3 �$
$�"��� ����+ �6
�" .!(�O 
$�g �6
�" �
=� �DE� ��=�F

?" t�6 
�Dh 
� �D3� w=( �l3�[�� ��7\3 H�+�+ w=( �l3�[��  �D3� �|�$ 9����� .�
$� 
$�g �:�)� 7 �:�)�

?6 9�" �+ ��)� ��%=�� �
7� 
�Dh ?" �� %$ l2 7 �3$ ��� �$�($ H�+�+ �
7� ?3=O  >$ 9�" ���3$
1]3 $


i) �+ x�2 ��
7� 7� �+ !�� 9�" �$�M+ 9)���� 7 �
7� 4� �+ ���� �U $
 ��%=�� �
7� !E� .�3$ 

?�(�) �$
$�"��� ��%=�� �5�6%��3 �
=� 
�  ��%=�� �5�6%��3 K� 9�]3��� ?� �$� ��E3 ��

) AB@�� �$
$�"���3,34C �$
$�"��� ��%=�� �5�6%��3 K� 9�]3��� ?" !�[3 (�� ) AB@��3,13 
� (

?3�@"��� WN�� %��3 AB@�� �$
$�"��� ��O�)� %$ .�
$� 
$�g >�+u�" t�6 
� �DE� ��=�F >��  7 �6���
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 >��E�" 0%=�� ?� �9�]3��� 9)��E�" >$
$� X���R ?Y$
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?" 0%=�� ?� �!6$ 9�]3��� �� $
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)1389�� ��)q+ $
 ( ��C �$
$�"��� ��O�)� %$ 9����� .���  9)��E�" >$
$� X�FZU$ >
7��( %��3 AB@��

�� $
 >��E�" 0%=�� ?� �9�]3���  ��:U4�782 x)��3 �" �
=� 9)$ ?� >�� <�M�  ���$%1391 �:�)% _

 ��)$�( 7 �3����1391 _ ��3��)\�1377<�M� _  ��$%1385 ���)
�f�3$ _1388 i�3 7  �
��1379 ?�� �
�"
� �

�� �$
$�"���  !6$ ��6$
�� >$
$� ���3��%�6 7 ?" 0%=�� ?� �!6$ 9�]3��� 9)�+  $
 >���� !�[3

��  .��:U  

?�(�) !)=�7$ ?� �$� ��E3 �� ?3�@"��� AB@�� �$
$�"��� ��%=�� >��  ��DE� �D� ��=�F >��

?" � H�+�+WN� X
�D� ����3��%�6 �X�FZU$ >
7��( �X���R ?Y$
$ 7 �6���  7 �+�FZU$ �$=6 >��

?F=�5� .!6$ >%�6 !)=�7$ 9�����  �X�FZU$ >
7��( H�+�+ ?" \�3 AB@����C �$
$�"��� ��%=�� >��

WN�� X
�D� �X���R ?Y$
$ 7 �6��� ?F=�5� ��+�FZU$ �$=6 >�� .!6$ ���3��%�6 7 >%�6 

%��3 ���� X7��+ �
=� 
� ��C 7 AB@�� �$
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